
UNIT-V

Mathematical Reasoning

www.ugc-net.com8233651148











www.ugc-net.com8233651148



www.ugc-net.com8233651148



www.ugc-net.com8233651148
A student has to obtain 33% of the total marks to pass. He got 125 
marks and failed by 40 marks. The maximum marks are :
एक छात्र को पास होने के लिए कुि अकंों का 33% अकं प्राप्त 
करना होता है। उसे 125 अंक लििे और वह 40 अंकों से फेि हो 
गया। अधिकति अकं हैं:
A) 500 B) 600
C) 800 D) 1000
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A man spends 35% of his income on food, 25% on children's 
education and 80% of the remaining on house rent. What percent 
of his income he is left with ?
एक आदिी अपनी आय का 35% भोजन पर, 25% बच्चों की 
लिक्षा पर और िषे का 80% घर के ककराए पर खचच करता है। 
उसके पास अपनी आय का ककतना प्रततित बचा है?
A) 6 % B) 8 %
C) 10 % D) 12 %
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In a class of 50 students, 82 % of the students cleared the 
JEE exam. How many did not clear it?
50 छात्रों की एक कक्षा िें, 82% छात्रों ने जेईई परीक्षा पास की। 
ककतनों ने क्लियर नहीं ककया?
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Ram scored 30 marks out of 50 marks and his elder brother Jim 

scored 42 marks out of 50 marks. Who scored a better 
percentage? and how much?
राि ने 50 अकंों िें से 30 अंक प्राप्त ककए और उसके बड ेभाई 
क्जि ने 50 अकंों िें से 42 अकं प्राप्त ककए। ककसने बेहतर 
प्रततित स्कोर ककया? और ककतना?
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The original price of a shirt was $30. After that, It was reduced to 
$15. What is the percent decrease in the price of the shirt?
एक िर्च की असिी कीित 30 डॉिर थी। उसके बाद, इसे घर्ाकर 
$ 15 कर ददया गया। िर्च के िूल्य िें ककतने प्रततित की किी 
हुई?
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The population of a town increases 3% each year. It is 30,000 
now. What was it last year?
एक कस्बे की जनसंख्या िें प्रत्येक वषच 3% की वदृ्धि होती है। 
यह अब 30,000 है। पपछिे साि लया था?
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The price of a pair of trousers was decreased from 120$ to 90$. 
What is the Percentage Decrease?
पतिून की एक जोडी की कीित 120$ से घर्ाकर 90$ कर दी
गई थी। प्रततित किी लया है?
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Vinay gets 82 % marks in examinations. If there are 480 marks, 
find the maximum marks?
पवनय को परीक्षा िें 82 प्रततित अकं लििे हैं। यदद 480 अकं हैं, 
तो अधिकति अकं ज्ञात कीक्जए?
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The price of a pair of trousers was decreased from 120$ to 90$. 
What is the Percentage Decrease?
पतिून की एक जोडी की कीित 120$ से घर्ाकर 90$ कर दी
गई थी। प्रततित किी लया है?
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